Y2 6 FE—RSFMMHETR HF45
VR 2 64E1 21 7H  MERTRES T

M IE R — S5 TE O AR HIZ,
i 184+ 33H3FH #BEIML.
WEET 100EST 60KH4TH &+5HDTT,

AR OFFIETX, 7N EAE A~ D B JENE O B i | 4R D R - E Y ) — T A 7
4 FRAY LSO H R, SRR OHERFAE . 1B ERCHEK I ORI
R5#8E 7 EV B THEOFME L, fiEEZITVE LT,



EE26FEE —BREHHEETEFIS(12AEHER)
(BA (8 F )
TR 264EE

= EIEWER Eyr EASRER

FHIZE FHIERE FHIA%E
1 |ETHR 2,786,604 2,786,604
2 |HhAESR 102,000 102,000
3 |FIFEIRfFE 8,000 8,000
4 |EEHBIRfTE 5,000 5,000
5 |[MRXFEFEEMFIXRMAE 1,000 1,000
6 [HAHERXTE 324,000 324,000
7 |EBEREHRIRAE 35,000 35,000
8 |EaiRitmREHRERIABNRAS 14,000 14,000
9 [HABHRAGE 27,000 27,000
10 |#h5 3 {FFR 2,314,369 27,241 2,341,610
11 [RBLRENFRFNRTE 5,600 5,600
12 |2EERUVEES 96,644 660 97,304
13 [ERHRUVFHH 137,006 137,006
14 |[EEXZHE 1,386,838 31,055 1,417,893
15 |BEXHE 661,459 6,166 667,625
16 |BAEEIRA 13,065 13,065
17 | &Mt 5 5
18 |#EAE 728,179 20,000 748,179
19 |#gHE 200,000 45287 245,287
20 [EURA 218,428 7,924 226,352
21 |ET{E 876,074 2,000 878,074
mASE 9,940,271 140,333 10,080,604
()% (Bf2:FM)

TRi264%EE

T EIEMER Z42 AR

FHIREE FHIEZE FHIREE
INEES 115,185 115,185
2 |KREE 1,612,182 22,877 1,635,059
3 |R&ZE 3,701,345 18,759 3,720,104
4 |@HEE 777,406 777,406
5 |HEE 17,846 17,846
6 |BEMKEEE 314,381 10,963 325,344
7 |EIE 165,711 165,711
8 |LtKE 1,420,836 34,424 1,455,260
9 [EBhE 349,187 349,187
10 |BEE 829,587 50,683 880,270
1 |KEERIBE 3,025 2,627 5,652
12 | MEE 611,579 611,579
13 |EXZEE 1 1
14 | FiEE 22,000 22,000
k=g 9,940,271 140,333 10,080,604




TH265EE —REFAHETESFEIE SHTEOHE (M4 FH)
FEHB Bt R W R
#AB |No e 24 EXE ] IHEERNE
| B EEXHE | 7Dt | — S B4R
" 1] 2|1 [13|BFILATRIBEEZE 1,030 1,030|B5ICAT SR E fi BN &
olalsla %‘/'J—T«ﬂiﬁé&%@iﬁﬁﬁ 17.000] 10,000 7,000 %‘/'J—T«r?{\yh*xﬁj_\*&%ﬁ%]\
3|3 (1] 2 |2ARU—EEE 1,109 1,108 1g§§§§§§%¥ﬁﬁ%ﬁyf‘EM9’\m
= 413 |1 |8 HBENETHZIESE 2,919 2,918 NEFHZEZIROE
3=
b % oyE -5 =
A THWEBEOEMICHESFELERE
5132 1|FELERELEE 5274 2,516 2758\ 5 nsm s T 2 O 18
- v CELRRE—BREMAZTOEMIC
63| 2| a|cEbREEEESE 2,225 1,112 1’”31%&;15#3&5%@0)1%
716 |1 |1 |BREZEREERE 1,232 1,044 188| BRAMRY AT LBIEERTH
wlelo| 1|7 |[-otummesssn 1,704 1,704| = I T B
6| /K
| B
§ of 6|18 |eemrmusnren 1172 1172| e kB R E TSR
10618 §§I§tﬁ¥frﬁ(7ﬁ\/\/bft\ﬁm) 6714] 3160]  660| 2804 kBHMBETEEE
. EEZAEERAHRVERMESE
11| 8| 2| 2 |[EmsswEss 4,400 4400|s ae =
j: B EEn= STl N E
f A|12] 8| 2| 3|ErERSEE 12,900, 10,000 2,900 ﬂ;gﬁ%%{*mu’ﬁ%&ﬁﬁg
&
13| 8| 3|3 |gkempes 13000] 9,000 4,000 §§§§§+%§E{¥4&U§F7M§E&EI
10 34 14]10| 1| 2 IhrEREREERESE 47,034 20,000 27,034/ NP EREEAEZELIEE
15110 3 | 1 | ERIEESHEREBHSEE 1,449 1449 EIE P 2R IE R BE IS E
y é 1611 1|1 |BEmERERKERIBSEE 398 200 198| B EERKERBIEE
| &
I8 AT AR EER AT ARBRNEERTERRUR
#1711 1] 2 ) 2,229 1,800 29| 2t




